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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) Question paper comprises five Sections — A, B, C, D and E. All questions are
compulsory.

(i11) Section A — Question nos. 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each, but not exceeding 20 words.

(111) Section B — Question nos. 21 to 23 are short-answer type questions, carrying
2 marks each. Answers to them should not exceed 40 words each.

(iv) Section C — Question nos. 24 to 27 are long-answer type questions, carrying
4 marks each. Answers to them should not exceed 100 words each.

(v) Section D — Question nos. 28 to 30 are two passage based questions and one
picture OR cartoon based question, carrying 5 marks each. Answers to them

should not exceed 150 words each.

Question no. 31 is a map based question that includes identification of
important places on the basis of given information. Write its answers in your

answer-book.

(vi) Section E — Question nos. 32 to 34 are long-answer type questions, carrying
6 marks each. Answers to them should not exceed 150 words each.

(vit) Answers should be brief and to the point and the above word limit be adhered

to as far aspossible.

(viit) There s no overall choice in the question paper. However, an internal choice
has been provided in 1 question of one mark, 1 question of four marks and
3 questions of six marks. Only one of the choices in such questions is to be

attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.

SECTION A
1. Name any two alliances made by USA 1n Asia. 2% é =]
OR
Write the full forms of USSR and CIS. 2x é -1

P T4
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2. 1987 U, WRA 7 AU I BT (AT3. M. 6. TH. ) ol Sficiepl H =T YSAT T 2 1

3. = U Hiu o Mo o1 1 Iw9d eI ? I
(A) o e <kl Tid € iH g T8
(B) SARRTd &=Id H Al A il |
(C) Ui A H I Tl g |
(D) facw-=mm # 3gE-a gig &3 |

4. AfTae sforgeen % e § gdafie aegel % RS A I AR | 2%:1

5.  3® Q3 ohi UM ohioll SII 9 a1 ATl ol TG AT 3R 7 & ai&T dae &7 | 1
(A)  ®E
(B) UIIUS
(C) Hled
(D) ¥

6. TIHAIIREA a1 =l 31AYUl SHH & oL g HIT
“gdf QI T, b FAERAT IM~dgdsh &1 ¥ g Tad oM H s T g

31T gl ST B |7 2%:1

7.  9RE1 99 Sl Qo M3SHd’ i 1 hEl Sl 7 ? 1
8. NItk AdeH AT W& @ foTu 3rfeeh qem TENifirehl <hi 3tk o 3TTdih, hIH-El

31 Sk Y AgwqUl B ? 1

9. W&, 1967 U BT Wleh GHT 9T ST o™ |HISA o 3TH ATE o GHOMH] A,
HIUY eI I TEU YAl Ygarl | TSHIdh oY hy AW 9T 39 €eh o folu

IR T SR I faveiyor i | 1
10. 3TEG 1971 H, YA 3R ifdad 99 & 9 g&qieifa orfd o fisar &

20-aNTT G’ = &I LT ol IR hiT | 1
11. YRA ol Tohd ¢d fam@d o 31g-8H% 9 hl WK hal ST 4T 2 1
.59/B/2 4
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2. In 1987, why did India send the ‘Indian Peace Keeping Force’ (IPKF) to
Sr1 Lanka ? 1
3. The privatization of agriculture in China led to 1
(A) retardation of growth in rural industry.
(B) lowering the personal savings.
(C) aremarkable rise in rural incomes.

(D) a phenomenal rise in foreign trade.

4, In the context of the world economy, cite any two examples of public

goods. 2x 1 =71

2
d. Identify the country that was neither a member of NATO nor of the
Warsaw Pact. 1

(A)  France
(B) Poland
(C) -~ Sweden
(D) = Spain

6. Complete the following sentence in a meaningful way :

“In eastern-KKurope, Czechoslovakia split peacetfully into two independent
1

countries called and . 2% r =1
7. Why 1s ‘Warsaw Pact’ also called the ‘Eastern Alliance’ ? 1
8. Besides economic and technological power, which other power is very

important to maintain Balance of Power ? 1

9. In February 1967, results of the general elections to the Lok Sabha and
the State Assemblies jolted the Congress Party. Analyse the major factor
responsible for the above setback called the ‘Political Earthquake’. i

10. Highlight the main objective of the 20 Year Treaty of Peace and
Friendship’ signed between India and the Soviet Union in August 1971. 1

11. The paramilitary force of which Princely State of India was known as
Razakars ? 1
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12.

13.

14.

15.

16.

17.

18.

19.

20.

Tsh 32T <hl T © ST foh SR H8® - URMTS Tehdl & ot 334
fhT | 1

LAAdl o 91¢, BAR Hdl YNRA TYR T TS ol TS i ol dIR F1 g
o, S&fch iU G I8 U U8t &l 91 ST bt o7 Toh TSAT 1 TS W
o SR 9 &l FAT ? 1

IRl ¥ GaiYd FAfdiad § ¥ &9-91 94 9 8 ? 1
(A) 3HE M & o a1 § HHT S 7

(B) 3 HIh UY 1 Hed A g3 8 |

(C) 3EE IUHIHIST o {98 =34 & faeheq o2 3 |

(D) 3HH HTaeh SHIAT o SR | HHl 3778 7 |

F-2 29 B A GRS R 7 7

1971 o <Ieh GYT ATl b U9dTq Tohd AU HeAT = 3l TN i Al ST
4 gig <hl ? 1
Tk T =l HRT ik TfeTiaa arey F&l S AAYUl o9 1T

1989 % ©ilsh TUL-gATEl | qTel Sl TS o1 4§ <@HT ISl 3R 38

o1 B 9Rd o TLHT 1 T & 73 | é+é=1

fAeafafga 5 9 S9-91 %A arEt-foqe e & T<d 13 99 787 8 ? 1
(A) I8 Qe arel UH (INEER) o faeg o |

(B) ¥ IAGIeH = fedn = faeg o |

(C) Ig TGl YUa FHuq Toham I o Tolt = 9 @ fofw ot |

(D) I8 ATEIH oilieh AT U o [oTT 2T |

HEfcTRad e 1 H&l hish g T
“ Jegeard feied o guYehl gRI Y du1 YuEHl ¥ i S,
YEATHAT Bl YW <A o Toi, st 61 33 fohn 1 |7 1

“1975 T T ATATAehIA o SR SATGIAAT bl T off |7 39 e ! ¥ 7q 39
Yeh X <hl SATEIAAT o IS al 3eT8WT fIRgy | L, 1_

2 Z

Pk Al HEERL PR AL sl 2R BT A B B
T =
[ =
- -
: g
G ¥
= ]
:. .__.
PTG AL HEE RCERC HTR AL SR BRI Ko B EM T
Pl T AL s ERG EPsi FT e AL s RCE TR AL £ 0E R BT aL ssbye EFoUiT e AL =0 EME BT AL BC I 5 ¥
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12. Show with the help of one example that Jawaharlal Nehru made efforts

for Asian unity. 1

13. After independence, why were our leaders not ready to reorganise States
on the basis of language 1n spite of the fact that Congress had already
recognised the linguistic principle as the basis of formation of States ? 1

14. Which one of the following statements related to globalisation is true ? 1
(A) It has reduced the rivalry between countries.
(B) It has reduced the importance of the United Nations.
(C) It has enhanced the choices for consumers.

(D) It has reduced the spread of deadly diseases.

15. Which countries are known as the ‘Third World’ ? 1

16. Soon after the Lok Sabha elections of 1971, which international event
added to the popularity of Indira Gandhi ? 1

17. Fill in the blanks to make it a correct and meaningful statement.

Lok Sabha elections in 1989 led to the defeat of Party and an
era of Governments began in India. é+ é— =]

18. Which one of the following statements 1s not true for ‘Anti-Arrack
Movement’ ? .

(A) It was a movement against alcoholism.
(B) It was a movement against domestic violence.
(C) It was a movement to get justice for poor landless farmers.

(D) It was a movement for gender equality.

19. Correct the following statement and rewrite it :

“The supporters of the ‘Naxalite Movement’ used force to snatch land

from the poor and the landless to give it to the rich land owners.” i
20. “Excesses were made during the Emergency imposed 1n 1975.” Support

the statement with any two examples of such excesses. é+ é =3
59/B/2. 7 P.T.0.
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Que @
21. Hifdad Jorel skl feheal @ TaRIvdisTt sl IR <hifolw ST 39 Ueh THTS hodTul
TUTTAT STt & ? 2x1=2
22. WY A H feu Tu fA=fafgd deai <»1 Taw B W feu wu = ¥ ddl fuaH
W: 4><é=2
7Y A 7Y B
(a)  HEMEHI (i) el ok
(b) L& UNYS (i)  Ueh JAqUBT T
(¢) JHE® (JUA.IEHITH.) (i) GIh TY I Tk T
(d) < AT A3 (iv)  TIh TP hl Teh Toi-Hl
23. 1969 H HIUH Ul H G b v IR fohal & ShTiehl hT U <hIfSU | 2x1=2
Que T
24. AT 9T % Uh TR ok ®Y H IMMEAE At hl Toheal e ABAT T U
éII%IQI I2x2=4
SOCI
I &AM AR Toshi™ o TS % €9 H JUIT T 6l Toheg] 3l IARRAT
ClE| W\IIQI 2x2=4
25. UUH YIS AISAT ok Toheal @l INOMHI shi AT shifow | 9x2=4
26. 1962 ¥ Yd URd AR =H & & [aa1g o fohal g el I [a9eI¥U] hiloT | 2x2=4
27. 1985 H USHa el 3N g=—< fog oimere g g&aneifia usie gueid o foheal
IR JTEEMI o1 TaTe¥o ity | 4x1=4
.59/B/2 8
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SECTION B
21. Highlight any two features of the Soviet System which made 1t a social
welfare system. axl=2
22. Match the following facts under Column A with those in Column B 1n a
meaningful way : 4x é =3
Column A Column B
(a)  General Assembly (1) Veto Power
(b)  Security Council (11) An international organisation
(c) UNICEF (111) An organ of the United Nations
(d)  League of Nations (1v) An agency of the United Nations
23. Describe any two factors responsible for the split in the Congress Party in
1969. 2x1=2
SECTION C
24. Describe any_ two strengths of ‘ASEAN Way' as an instrument of
development in the region. 2x2=4
OR
Describe any two strengths of the European Union as an organisation of
mutual cooperation and development. 2x2=4
25. LExplain any two outcomes of the First Five Year Plan. 2x2=4
26. Analyse any two i1ssues of conflict between India and China before
1962. 24
27. Analyse any four provisions of the Punjab Accord signed by Rajiv Gandhi
and Harchand Singh Longowal in 1985. dx1=4
59/B/2. 9 P.T.O.
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28. i QU 31aaiul il LqHYds Tfeq adT fH=fcTRad Je-1 & It foffan -

OHadl ehl {81 1 TR SHAT-SHTEH hl FLEAT Sl TSAT hl T § TGt
UEdT 8 | HHedl shl G 3R TS hl L&l Th-g8 o qeh 84 dlgy 3K
IAFR Bd Wi & | Afehd GUHA TST 1 Hadts gHIM UAd SHal &l gl |
NIRRT <! Toeft BACT ¥ S=TT Aol 81 3eh! GLETT <hl &L I1d &l Tiiohd 3a4 WX
!l TATH &1 GHT ST Tehdl | T=Tg I8 & Toh Uaa 100 a8 § o= & fogsf
T % BN AR T 7, I hal SAQ AN Ge YT &l TRl o gl R Y
g |
(a)  THEAT shl T&TT T TTATHeh &I 1 8 2

(b) T 3IGTELN <hl TEAT § U foh Tohell <01 & I aaedr <hl THET
qHe L& o (o @l &4 Fehdl & |

(c) / WA hl Y& © HHaA! shl L& ] Afereh Hgwwqul & ? 1+2+2=5

29. i QU MU &0 &l €AFYae UleU qoT HfIRad I9-1 o It TR :

YRGE diag™ o Haaet ol fovad o o6 @i ToHide g
AThdTf=Ieh HTehl ol UTeH HUT | I= I8 i Tavard o1 foh taraestar i feufd
4 ol FLhRR YT ST AhAT hl SEAHTA 1Y & WTEH & SRR H T8d §Y &l
ST | 3H IFG T TR i MUTAehIal § S[g JEa9 I o 3Taid o9eh 3N
TRt ARt ¢ & g |
(a) YR o HEYM HHAIAT o TSH bl fohd I8 H AT STaT o7 ?

(b) U fordl 3 cAehdiles AHehl <l saTEan HIfT et grem ara &

ST Ifder @l ohl ShiHT TiRU |
(¢)  3TMITdehldd H WA TLhR <kl 21 TS fohegl 2 STETYRUT IRl Sl 39K
hIToTT | 1+2+2=5
.59/B/2 10
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SECTION D

28. Read the passage given below carefully and answer the following

questions :

Human security 1s about the protection of people more than the
protection of States. Human security and State security should be — and
often are — the same thing. But secure States do not automatically mean
secure peoples. Protecting citizens from foreign attack may be a
necessary condition for the security of individuals, but i1t 1s certainly not a
sufficient one. Indeed, during the last 100 years, more people have been

killed by their own governments than by foreign armies.
(a) What is the primary goal of human security ?

(b)  Show with the help of an example that the ‘law and order’ problem

in a country may become a threat to Human Security.

(c) Why 1s it more important to protect people than to protect
States ? 1+242=5

29. Read the passage given below carefully and answer the following

questions:

The makers of India’s Constitution trusted that all political parties
would basically abide by the democratic norms. Even during the
Emergency, when the government would use extraordinary powers, its
use would be within the norms of the rule of law. This expectation led to
the wide and open-ended powers given to the government in times of
Emergency.

(a) By what name was the body of India’s Constitution-makers known
as ?

(b)  Explain any two democratic norms which all political parties of
India should abide by.

(c) Highlight any two extraordinary powers given to the Indian

Government during Emergency. 1+2+42=5
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30.

=L
gﬁmﬁqmw@mmawﬁﬁqamﬁm%ﬁaﬁuﬁ%w

(i)  “hlgd H GRIT T TR TAME GIR% TR JHGH 984 TIR% gRI UTfehed™
% hI9-8 & TThI Uei hl AT AT 8 2

(i)  Hifepedi.h-HeH H gE GHTRT T HY €Y 9T |

(iii) 39 hlgd gRI UTfehed <hl TSHITd o daYg H U 7T Hce sl €Iy
<hITTT | 1+2+2=5

[AETITIGT 597 et GIBETIST Gaeriaar & 70 397 &g1 30 & I W & |
(30.1) YIfhEa™ o feheal el Hatfad g™ vt o am fdfgu |

(30.2) TIRN Alhad TATU L H TIhEIM hl STHHAAT & hig al HRU TIY
I |

(30.3) 1971 T Ydi UTfehed™ o TIfeh&d H AT 84 o [T I whis aql
FHTeh WY hifu | 1+2+2=5

Pl BTG AL BEE R PO PR AL BN Bl T oL s B G E
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PTG AL I P HTHAL sl Bl b -\.-||'h||_|
Pl T AL s ERG EPsi iT e Al s RC PP T AL 0 R BT caL ssa b e EFoUiTE AL =0 EME BT AL BCERCT oL o R T =
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30. Study the cartoon given below carefully and answer the questions that

follow :
1AM
ALWAYS
GOOD AT
CALCULATION
(1) As shown 1n the cartoon, ‘Musharraf 1n tie’ and ‘Musharraf in cap’

represent which two official posts in Pakistan ?

(1) Explam the meaning of the second equation in the context of
Pakistan.

(1) Explain the message conveyed by this cartoon regarding the
politics in Pakistan. 1+2+2=5

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30.

(30.1) Name any two elected Prime Ministers of Pakistan.

(30.2) Explain any two reasons for Pakistan’s failure to build a stable
democracy.

(30.3) Explain any two factors responsible for East Pakistan’s break
away from Pakistan in 1971. 1+2+2=5
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31. WRA % fU U TSHilds WW@iAAERA (Y8 15 W) H 9= USA
@, ®, ©, © v ® = grr ifra e = 7 | F2 & T IHE &
YR T 39 TSI bl UgAM hIGT 3T 37T ITL-YETehl | 3eb Fal A1, TN
shl T8 A <hl shH GEIT AT HEMT H 31 T gaf-ad AR, 9 &I 78
darferest o &9 1 forflau

T <kl TS SRR AHrT |

: TST 1 A
hl ST T Taf-erd 378X

(1)

(i1)

(111)

(1v)

(V)

(i) I8 USY S8 9er T giEsHT f€a 3 |

(i) o8 TSF T8 1961 H YT o hosl H Heh HLadT =T T |

(iii) o8 ST gl Todehl G JFA 3T |

(iv) o8 TSI Sl TSite e — ArTeTel S93iid 8 o1 8371 2 |

(v) 98 USH I drel-fauet e 9 9veig 2 | 5x1=5
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31. In the given political outline map of India (on page 17), five States have

been marked as (A), B), ©), D and (E). Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

Sr. No. of the
information used

Concerned alphabet
in the map

Name of the
State

(1)

(1)

(1i1)

(1v)

(v)

(1) The State where Sardar Sarovar Project 1s situated.

(11) The State which was liberated from the occupancy of Portugal in

1961.

(111) The State where Chipko Movement started.

(1v) The State associated with Rajiv Gandhi — Longowal Accord.

(v)  The State associated with the ‘Anti-Arrack Movement’ . 5x1=5
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For question no. 31
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FIZ:  [HEIRET J99 FacT gIRETST Ghemidar & 170 397 &1 31 & TH W
g/

(31.1) ATNTRAUS o AHTEATE! T ol A fIRay |

(31.2) 1963 | fohd TSH 1 TS TohAT AT T ?

(31.3) el ETR UiRSHT fohd TS & Hafed B 2

(31.4) Trsflar TiTeft <hl gen form TsT H 73 off 2

(31.5) AT 1 AR HaHl IS fhe TSI H & AT AT ? 5x1=5

W is &

32. fova K ToHita =1 qaTaor graeel faieT & R 3 9= & v fogs @

1t Tohral =R HEi bl AU hifag | 4><Ié=6
SOE)|
WL 9 S9aiieh®T <5 8T fehral = JHTEl hl UM hifST | 4x1é=6
33. “Q g Tava < quify & we, YRa i qe-FRuear 6 Aif v JE rEis
3R Y9Gl &1 Wl |7 39 hYT o 98 H I3 oI 3UIh dob (IRgU | 3x2=6
SOEC)|
3TMYeh TR 4 98 ¥ 331U T Hhi9-H dI9 heH, Hifdad 99 & 1991 § fa=eq
o o Gohd o ? 3x2=6
34. YNd H TEaAdl o 9vATq (I o TF-Yg § 399l feheal g J&F fodral shl =Ime
hiTTT | 2%3=6
SOE)|
1947 H g YA o TauTsH < feheal ©: qRomi sl e Hife | 6x1=6
.59/B/2, 18
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Note :

OPI0
S
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 31.

(31.1) Name the separatist leader of Nagaland.

(31.2) Which State was created in 1963 ?

(31.3) The Narmada Sagar Project is located in which State ?
(31.4) In which State was Rajiv Gandhi assassinated ?

(31.5) From which State was the Movement of Right to Information

started ? ox1=5
SECTION E
32. Describe any four issues that compelled global politics to think about
environmental concerns. 4x1 é =6
OR
Describe any four effects of Globalisation on India. 4x 1 é =6
33. “With theend of the bipolar world, the Non-alignment policy of India lost
1ts earlier relevance and effectiveness.” Support the statement with any
three arguments. Fx2=6
OR
In your opinion, which three steps if taken earlier could have saved the
USSR from disintegration in 1991 ? Ix2=6
34. Explain any two key controversies related to the development in India
after Independence. 2%3=0
OR
Explain any six consequences of the partition of India 1in 1947. 6x1=6
59/B/2. 19
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